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Mathematica i&HAJUIF .

A={{1, 2, 3,4},1{2,3,1,2}, {1, 1,1, -1}, {1, 0, -2, —6}};
Inverse[A];

MatrixForm[ % ]
BATETRAE

22 -6 —26 17
- 17 5 20 -13
-1 0 2 -1
4 -1 -5 3

. a b Y
36 Kﬁ%& ﬂm@o
Mathematica iE&HAJUIF .

Inverse[ {{a, b}, {c, d}}]

BATETRANE

e A e =l
—bctad’” —bctadl’ —bc+ad’ —bc+tad
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1 2
3 4
Mathematica IR U0 .

MatrixPower[ {{1, 2}, {3, 4}}, 2]
Det[{{1, 2}, {3, 4}}]

BATERANT

{{7, 10}, {15, 22}}

-2
[43]
<1>&A:(3 ° _2),3:(_3 ? 12),;1‘EA—0—B7FH4A—0—3BO
0 7 —8 —4 1 8
41 0
(2)&A:(1 o0 71),3: LSk as
25 1 0 2 2 0 1
1 3 4
(3>&A:(72 4),3:( - 4),j€AB$ﬂBA°
— —3 —6

1 2 0
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1 7 —1
N 2 0 _1 S, T 2 N T TAT
(5 1§2A=(1 , 2>,B= 4 2 33K AB) L IFHE: (AB) ' =B'A",
2 0 1
1 2 3

(6) A=12 2 1| KRILHHHEA " IFRIE AL =ECRIFE R,
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